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_ d
m3 m3 m3 m3 m3) m3
H15 386 330 604,508 517,719 874 524 9,155 5491 389 332 613,663 523,21C
H16 388 334] 609,348 525,076 915 540 9,431 5,564 391 336| 618,779 530,642
H17 389 334 612,730 526,156 889 526] 9,213 5,453 393 336| 621,943 531,60¢
H18 384 329 605,837519,170 906 526| 8,323 4,829 387 330 614,160 523,99¢
H19 378 328 597,879518,371 946 523 8594 4,749 382 329 606,473 523,12C
H20 372 321 589,374 508,999 969 506] 8,581 4,483 376 322| 597,955 513,481
H21 363 319 576,169505,99% 935 457 8,130 3,979 366 319 584,299 509,97<
H22 372 3200 590,241 507,484 946 503 8,067 4,293 375 321 598,308 511,777
H23 363 314 576,718 499,581 912 520 7,556 4,314 365 315| 584,274 503,891
H24 353 316| 565,346 505,100 961 585 6,899 4,199 356 317/ 572,24% 509,29¢
H25 348 311| 560,318 499,697 996 538 6,984 3,769 351 312 567,302 503,46¢€
H15 402 307/ 121,510 92,927 437 260 14,524 8,664 405 302 136,037 101,591
H16 394 314 118,763 94,541 413 260 13,770 8,653 396 308| 132,533 103,19¢
H17 403 315 119,011 92944 404 275 13,36Q 9,081 403 311 132,371 102,031
H18 379 319 111,450 93,833 412 295 12972 9,277 382 316| 124,422 103,112
H19 388 315 113,233 91,983 444 301 13,753 9,323 393 314 126,986 101,30&
H20 388 314/ 113,999 92153 490 322 13,069 8,581 397 315 127,068 100,734
H21 369 313 108,037 91,631 448 316 11,793 8,323 376 313 119,830 99,954
H22 415 294 121,201 85,944 506 319 13,196 8,309 422 296| 134,397 94,252
H23 400 319 116,922 93,174 449 321 11,419 8,164 404 319 128,341 101,34C
H24 385 323 112,243 94,052 456 333 11,411 8,349 391 324 123,654 102,40C
H25 383 332 112,038 96,921 442 325 10,276 7,563 388 331 122,314 104,484
H15 431 3531 167,570 137,188 417 266 8,863 5,643 430 348| 176,433 142,831
H16 434] 354] 167,721 136,786 396 266] 8,256 5,544 432 350| 175,977 142,33C
H17 432 3531 167,453 136,807 380 275 7,740 5,593 430 349 175,193 142,40C
H18 423 353 163,203 136,261 443 273 8,840 5,451 424] 349 172,043 141,71z
H19 437| 357/ 167,786 136,943 363 283 6,379 4,971 434 353 174,16% 141,92C
H20 411 347 159,102 134,446 392 289 4,270 3,15] 411 346[ 163,372 137,597
H21 432 349 165,692134,052 474 295 5043 3,134 433 348| 170,73% 137,18¢€
H22 439 344] 165,692129,874 275 243 2839 25174 434 341] 168,530 132,38¢
H23 425 356 152,654 127,663 332 202 2,829 1,724 423 352 155,483 129,38Z
H24 412| 361] 146,800 128,455 447 262 3503 2,049 413 359 150,302 130,504
H25 412| 363| 145,647 128,353 335 287 2,414 2,074 411 362 148,063 130,42¢
H15 396 331 893,588 747,834 501 305 32,545 19,798 399 330 926,133 767,632
H16 397 335 895,832756,403 488 306 31,457 19,762 399 334 927,289 776,16%
H17 398 335 899,194 755,907 475 316 30,313 20,133 401 334 929,507 776,04C
H18 390 332 880,490 749,266 497 322 30,135 19,557 393 332 910,625 768,82¢
H19 390 331 878,898 747,297 498 330 28,726 19,048 392 331 907,624 766,34%
H20 381 325 862,475735,598 558 349 25,920 16,214 385 325 888,395 751,812
H21 375 323 849,898 731,678 547 338 24,966 15,437 379 323 874,864 747,11F
H22 389 320 877,134 723,302 536 336 24,101 15,113 392 321 901,235 738,41¢
H23 378 321 846,294 720,420 516 336 21,804 14,194 380 322 868,098 734,614
H24 367 324 824,389 727,607 545 365 21,812 14,596 370 325 846,201 742,20¢
H25 363 322 818,003724,971 525 358 19,676 13,407 366 322 837,679 738,37¢
8 15 - 9
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